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Names of people in group:

1. Choose atree
2. Do you know what sort of tree it is? H
3. Estimate how old the tree might be:
4. Now use this method to calculate the approximate age of the tre
Measure 1.5 metres up the trunk and mark the spot.
+ Measure the girth (all the way around the trunk) of the tree at this height.
* Write down the girth in cm. i
* Use the calculator to divide the number of centimetres by 2.5.
* Write down your answer
This gives you the approx

age of the tree.

* What is the difference between your
estimate and the measured age of the tree?

+ During which year was the tree planted?
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